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1-12. sorularda, cümlede boş bırakılan yerlere uygun düşen kelime ya da ifadeyi koyunuz.

1- 
The instructions on how to .......... the computer desk were unclear and it took us about two hours to put it together.


A) design 
B) assemble 


C) complicate 
D) locate 


E) distract


2- 
In our opinion, it is .......... to put more money into a project that has failed to produce anything so far.


A) senseless 
B) tasteless 


C) precise 
D) predictable 


E) economical

3- 
We.......a better trip if you.......to do everything as cheaply as possible.
A) are having/weren't trying
B) were having/haven't tried
C) had/didn't try
D) might have had/hadn't tried
E) had had/wouldn't be trying
4- 
James.......as an estate agent for several years before he.......to quit and travel around the world.
A) had been working/decided
B) has worked/decides
C) is working/will have decided
D) was working/had decided
E) has been working/would decide
5- 
By the time Nat Turner, a black slave leader in America, and his co-conspirators ........ they ........ about 60 whites.
A) were captured/had killed
B) would be captured/were killing
C) captured/used to kill
D) would have captured/might have killed
E) could be captured/killed
6- 
Great white sharks play ....... important role in .......balance of ocean life that we are only beginning to understand.
A) some/a                 
B) the/any
C) —/—                            D) an/the
E) any/a

7- 
It has been a much better year for tourism this year; Antalya is full of foreign tourists, and ........ Bodrum.
A) so is                             
B) neither has
C) nor is                                 
D) as does
E) so has
8- 
It doesn't matter........we go to a traditional Turkish restaurant........ try the new Chinese restaurant. I just want to eat out for a change.
A) either/or
B) neither/nor
C) whether/or
D) not only/but also
E) no sooner/than

9-  
Everybody was asleep, so when her friend phoned her, she spoke quietly .........disturb the others.
A) in order not to         
B) without much 

C) in contrast to        
D) nevertheless
E) on account of
10- 
Most traffic accidents occur...... people are within a kilometre of home.
A) where 
B) when

C) whose 
D) that
E) what
11- 
.........her husband's constant cruelty, she felt she would have to continue her marriage for the sake of her children.
A) Owing to 
B) Since

C) Instead of 
D) Just as
E) Despite

12-   
At last Clive has..........a solution to the problem of where to hold our meetings.
A) come up with                
B) gone down with
C) put up with              
D) got out of
E) gone in for
13. -17. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
In 1924 Thomas Watson Sr. (13) ....... the name of his company to International Business Machines. The company produced many types of electronic machines. In 1952, Watson's son, Thomas Jr. became the head of the company and proceeded to manufacture their first computers. This first computer was (14) ....... for scientists. Many other forms of the computer were produced and in 1981 this firm (15) ....... its first personal computer. 
(16) ......., this world known and (17) ....... company, better known as IBM, is now like many other companies: in financial difficulty.

13-



A)
took
B)
gave


C)
resembled
D)
notified


E)
changed

14-


E)
built
B)
produced


C)
created
D)
grown

E)
installed

15-


A)
marketed
B)
produced


C)
defected
D)
worked


E)
used

16-


A)
Since
B)
Because


C)
As known
D)
Unfortunately


E)
Helpfully

17-


A)
respected
B)
respecting


C)
being respected
D)
respectful


E)
having respected

18 – 22. sorularda, yarım bırakılan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

18-  
The problems that occurred during the trial ...............
A) 
in spite of the care which was taken in the 
development stage
B) 
was a consequence of insufficient research 
being done previously
C) 
although not serious enough to warrant the 
cancellation of the programme
D) 
therefore, the whole system will have to be 
looked at again
E) 
have led to some doubts about the viability of the project
19-   
Upon finding a hotel to spend the night at ..................
A) 
most places in town were already fully-booked
B) 
it was a great relief not to have to carry our 
luggage any further
C) 
unfortunately there were no rooms with 
bathrooms available
D) 
we went out to look for somewhere to eat dinner
E) 
the receptionist called the porter to show me to 
my room
20. 
Every essay question will generally contain a key word  .......

A)
that tells you what kind of answer your teacher wants
B)  
when you had nothing specific in your mind
C)  that it should have used only once
D) 
after you showed how the parts were related to the whole
E)  
because you should have looked at some individual elements
21. 
Until we have purchased a better one .......
A)
was the only way to follow their advice
B)  
we had decided to make some improvements in the office
C)  all my colleagues used their own office materials
D) 
all the staff worked hard to finish the report on time
E) 
we have to make do with this old computer program
22. 
As soon as they heard the sirens,______.
A)
it is not too late to do something 

B)
everybody should have left the building
C)
all the children will run towards the gate 

D) 
most of the passengers had panicked 

E)
there will be a state of chaos in the city
23. — 24. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

23.
She’ll probably take up nursing.

A)
What is Sally going to do when she has resigned her present job?


B)
How could she earn money after resignation?


C)
Is Sally’s aim to be a nurse after school?


D)
Is it certain that she be a nurse?


E)
Do you think that she’ll be a nurse after school?

24.
Yes, I shall, as soon as I’ve finished typing.


A)
Are you still typing?


B)
Is it possible that you can give me a lift?


C)
Will you be going to town tomorrow?


D)
Are you going to town with me today?


E)
When will you go to cinema today?

25-26. sorularda, verilen İngilizce cümlenin Türkçe 

dengini bulunuz.

25- 
The penguin, which, with its present appearance, resembles a waiter ready to serve, had wings millions of years ago.

A) 
Bugünkü görünümüyle hizmete hazır bir garsonu andıran penguenin milyonlarca yıl önce kanatları vardı.

B) 
Penguen, milyonlarca yıl önce sahip olduğu kanatlarını yitirince, bugünkü hizmete hazır garson görünümünü almıştır.

C) 
Milyonlarca yıl önce kanatları olan penguen, şimdiki görünümüyle aynı garsona benzemektedir.

D) 
Kanatlarını milyonlarca yıl önce yitir​miş olan penguen ilk bakışta, hizmete hazır bir garsonu andırmaktadır.

E) 
Bugün görünüm olarak hizmete hazır bir garsonu çağrıştıran penguen, milyonlarca yıl önce kanatlarını yitirmiştir.

26-
We must all contribute to the fight against erosion so as to prevent the earth from becoming a naked planet.

A)
Dünyanın çıplak bir gezegene dönüşmesini önlemek için hepimiz erozyona karşı mücadeleye katkıda bulunmalıyız.

B)
Erozyona karşı mücadelede herkes yer almadıkça dünyanın çıplak bir gezegene dönüşmesini önleyemeyiz.

C)
Hepimiz erozyona karşı sürdürülen mücadeleye katkıda bulunursak, dünyanın çıplak bir gezegene dönüşmesini önleriz.

D)
Şunu bilmeliyiz ki dünyanın çıplak bir gezegene dönüşmemesi, hepimizin erozyonla mücadelede yer almasına bağlıdır.

E)
Dünyamızı çıplak bir gezegene dönüştürmek üzere olan erozyona karşı hepimiz mücadele   etmeliyiz.

27-28. sorularda, verilen Türkçe cümlenin İngilizce 

dengini bulunuz.

27-
Okyanus bilimcileri, gelecekte dünyanın ciddi bir su sıkıntısı ile karşı karşıya kalacağını tahmin etmektedirler.

A)
Oceanographers guess that the world will face 


the serious problem of lack of water in the 


future.

B)
It's guessed by oceanographers that we will 


face the serious problem of lack of water in the 


world of the future.

C)
It's claimed by oceanographers that the future 


will come face to face with the serious problem 


of lack of water in the world.

D)
Oceanographers say that the world of the future 


will come face to face with the serious problem 


of lack of water.

E)
Oceanographers declare that the future of the 


world will face scarcity of water which is a 


serious problem.

28-
Gazetelerde okuduğun her şeye inanmamanı tavsiye ederim.

A)
You should be sceptical about what you read in the newspapers.

B)
I advise you not to believe everything  you



read in the newspapers.

C) 
I’d recommend you not to believe anything you  read in the newspapers.

D)
If I were you, I wouldn't believe everything I read in the newspapers.

E)
I suggest that you try not to believe anything you read in the newspapers.

29-31.  soruları verilen parçaya göre cevaplayınız.

Providing water for man and his industry grows daily more difficult. Almost always the demand is for fresh water, but the proportion of the Earth's water in rivers and streams is extremely small. If the Antarctic ice cap were to melt, it would feed all the rivers for 800 years. Although several schemes have been suggested for utilizing this source, none have so far been practical. Far more promising is the tapping of the large supply of underground water or the desalination of sea water. Yet, whichever means is used, managing our supply of water is a technical challenge of huge and urgent importance.
29-   
We can conclude from the writer's statement that  .......
A) 
the amount of water used by man increases 

every day
B)  
a large part of the fresh water currently available is used for industry
C)  rivers and streams have become smaller due to 

industry
D)  industry is becoming more complicated day by 

day
E)  
the need for fresh water is dominant
30-   
The passage suggests that the Antarctic ice cap .......

A)  
is not a realistic alternative fresh water source at 

present 
B)  
will provide a great deal of water for irrigation 

when it melts

C)  seems more a promising solution than the 


desalination of sea water
D)  cannot possibly melt in the next eight-hundred 

years
E)  
has been used several times to provide fresh water
31-
In the writer's opinion, the world's water problem .......

A) 
has only recently become serious
B)  
needs to be resolved as quickly as possible
C)  is partly a consequence of industrial pollution
D)  could be avoided if we experimented more with 

the ice cap
E)  
can only be solved by utilizing the water underground
32-34.  soruları verilen parçaya göre cevaplayınız.

Anna guessed that the fact of her going to the park with Mr Riley would pass swiftly from mouth to mouth like the rumour of an event. She had no friends; her shy personality had been misinterpreted, and she was not popular among the community, despite the generous gifts that she secretly made to the poor. Many people would say that it was her money which was attracting Riley to her, but she didn't care. She had the unshakeable self-pride of strong people and knew that Riley was attracted to her spirit and her physical appearance — not to her fortune.
32-   Anna believed that .......
A) 
her walking together with Riley would remain a 
secret from the town
B)  
people would talk about her outing to the park with Riley    
C)  all the rumours she was told by the townspeople 
were true
D)  she should pay attention to the rumours being 
spread about Riley
E)  
she should be more generous to the 
townspeople
33-   The passage tells us that Anna .......

A) 
was a friendly girl, but not very careful with  
money
B)  
had difficulty in understanding what people said
C)  was beautiful, but too proud of her social status
D)  was not attractive enough to be loved for any 
reason other than money
E)  
was not liked by the townspeople
34-   
From the text we can conclude that .......

A) 
Anna was afraid that Riley liked her for financial 
reasons
B)  
the townspeople knew that Riley liked Anna 
because she helped the poor
C)  Anna was sure about  Riley's feelings for her
D)  Riley was too proud to marry someone for her 
money
E)  
Anna ignored the gossip about Riley because 
she needed his love
35-37.  soruları verilen parçaya göre cevaplayınız.

Jane Austen and Walter Scott were contemporaries, but the history of their literary reputations tells us about the direction the novel has taken since their time. Until Charles Dickens began to write, Scott was the most popular novelist in the world, while Austen's novels remained obscure. He used Scottish, English and French history for his subject, while she focused on the restricted life of provincial towns and rural families. During the last hundred years, however, Scott's reputation has declined, whereas many now regard Austen as the first modern novelist.
35-   Jane Austen's novels .......
A)  
were the first to deal with rural life
B)  
were the main source for Charles Dickens' 
works
C)  were written much earlier than Walter Scott's
D)  were initially not well-known
E)  
are now considered to be very poor
36-   Walter Scott .......

A) 
is currently the most popular novelist in the 
world
B)  
knew very little about Scottish, English and 
French rural life 
C)  is not as well-regarded as he used to be
D)  wrote about more interesting subjects than Jane 
Austen did
E)  
is now considered to be one of the most important novelists ever
37-   We can infer from the passage that .......

A)  
Charles Dickens became as popular as, or more 
popular than, Walter Scott
B)  
Walter Scott has gained in popularity in the last 
hundred years
C)  the modern novel deals with much more 
restricted subjects than older works did
D)  Scott, Austen and Dickens are the best-known 
authors of the last century
E)  
Charles Dickens wrote about the same subjects 
as Jane Austen did
38-40.  soruları verilen parçaya göre cevaplayınız.

A vital component of a Christmas lunch are the 'crackers', a relatively late addition to the festivities in terms of their history. They were invented in the second half of the 19th century by a young baker called Tom Smith. While holidaying in France, he noticed that the bonbons there were wrapped in coloured papers and prettily twisted at each end. He thought the idea would do well in England and so set up a company on his return to produce such wrappings. They were a huge success, and by 1900 were selling worldwide at a massive profit, mainly at Christmas.
38-   According to the text, crackers .......
A)  
are supposed to be used late, at the end of a 
celebration meal
B)  
were first used at Christmas time in France
C)  became a part of Christmas lunch more recently 
than other elements
D)  are not really necessary for Christmas lunch and 
are just decorations
E)  
were invented in France in the 19th century
39-   The writer states that Tom Smith .......

A)  
went to France to investigate how crackers were 
used
B)  
first had the idea of making crackers when he 
was abroad
C)  produced sweets and bonbons in France and then in England

D)  was the first to have the idea of wrapping 
sweets in attractive papers
E)  
introduced bakery to England after seeing it in 
France
40-   It's stated in the passage that .......

A) 
Tom Smith started a company in France to 
produce crackers
B)  
wrapped sweets were exported from France to 
England in the 19th century
C)  crackers became more popular when they 
started to be sold cheaply
D)  Smith gave up his job at the bakery when he set 
up his own firm
E)  
Tom Smith's invention sold out of England as 
well as in
41-42. sorularda, verilen cümleye anlamca en yakın seçeneği bulunuz.

41- 
The professor may have a valid academic theory, but he shouldn't expect the general public to understand it.
A)  
Even though the professor's theory might have academic value, he isn't justified in expecting it to be understood by people in general.
B) 
The professor's theory certainly has academic 
merit, but, as would be expected, people in general don't understand it.
C) 
Even the general public can see that the professor's theory doesn't have any academic merit.
D) 
The professor's theory should be easily 
understood by the general public because it has 


academic merit.
E)  
Most people are not expected to understand the professor's theory though it has intellectual value.
42- 
She got over the trauma quickly, thanks to the care of her supportive family.
A)  
Had she had a more supportive family, she 
would have recovered more rapidly.
B)  
Her rapid recovery from the trauma was due to the support she received from her family.
C) 
After she had recovered from the trauma, she 
thanked her parents for their support.
D) 
Supportive families are key to recovering from 
traumas, as was the case in her situation.
E)  
Despite having lots of support from her family, it 
took her quite some time to get over the trauma.
43 -44. sorularda, parçada bırakılan boşluğu uygun şekilde tamamlayan ifadeyi bulunuz.

43. 
Being a parent can be very difficult at times.

..................... . Older children, on the other hand,

don't want the assistance
 you offer them for

anything.




A)
Parents sometimes resent the assistance


they have to give their children


B)
Younger children need
 help with almost



everything

C)
The more children you have, the more difficult 



it is to find time for ourselves


D)
No one wants to help but everyone offer



advice about how to bring up your child


E) 
Children never help around the house

44. 
Nowadays doctors and surgeons work together in treating a patient..................... . A doctor gives a patient drugs and a surgeon works on him. A doctor uses medicine or machines, a surgeon uses a knife.

A) 
But in past they used to work separately. 

B) 
Their methods are also similar.

C) 
Which drugs will be given to a particular patient is usually a discussion matter between them.

D) 
Nevertheless, they work in different ways.

E) 
Being is surgeon is more difficult than being a doctor.

45-46. sorularda verilen durumda söylenebilecek sözü bulunuz.

45. 
While you're driving to another city , you take a tourist hitchhiking into your car. Not knowing that you are a non - smoker, he lights his cigarette without asking for permission without caring whether you break his heart or not, furiously you tell him to put it out :


A)
Would you mind putting out your cigarette?

B)
How much do you smoke ?


C)
When did you start smoking ?


D)
It would have been better if you had opened 



the window first .


E)
If you want to travel in my car, stop smoking 



at once.

46. 
Your  lessons at school keep  you extremely


busy; furthermore, your tutor gives you lots of
worksheets to do. Not wanting to resent him,
you
ask him to reduce the amount of the tests:

A) 
Nobody can stand so much homework, can 


they? 

B) 
When will you quit that habit ? I wonder.

C) 
Don't you think I'm given too much work? That's enough!

D) 
Do you mind lessening the homework, for I'm too busy ?

E) 
How many pages will I have to do again ?

47-48. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

47. 
Sami 
: How do I get to the next village? 


Emrullah 
: Let me see. Oh, I think it's the best




  way to go through the wood and 




  walk along the river.


Sami 
: ..................................


Emrullah : Oh, no, twenty minutes or so, but 

you may wait for the bus running every two hours if you're too tired.


A)
I can't get there on time, can I ?


B) 
Do I have to walk long ?

C) 
How long does it take on foot ?

D) 
I'm in a hurry. How often do buses run here ? E) 
Does it take too long for the bus to come ?

48. 
Jack 
: I've been appointed to the position 





  of staff manager today.


Mary 
: It's wonderful.


Jack 
: ......................................


Mary 
: Of course. Let's make a 




  reservation.
A) 
Will you accept the offer?

B) 
Do you have to reply immediately? 

C) 
I think I'll turn down the offer.

D) 
I'm very happy, too.

E) 
We must celebrate it this evening.

49-50. sorularda, anlam bakımından parçaya uygun olmayan cümleyi bulunuz.

49. 
I) Lorena Ochoa, from Mexico, started playing golf when she was three.


II) When she qualified for her first junior golf world championship at the age of eight, her father had doubts about taking her to San Diego to play in it . 


III) Most people may still think golf is quite convenient for a girl like her. 


IV) He was afraid the pressure would be too much for her or that she would be too upset if she didn't win . 


V) It was the president of the golf association who persuaded him.

A) I              B) II            C) III             D) IV              E) V

50- 
(I) Born on March 14, 1829 in Staffordshire, England, Charles Charlesworth passed his first years ordinarily enough. (II) Within the next three years, his veins and tendons stood out from his skin, like those of a man of 70. (III) His hair turned white, his skin wrinkled arid he began to walk with a stoop. (IV) Life expectancy was far lower at that time than it is today. (V) At age 7, young Charles lost consciousness and died, and according to the coroner, the cause of his death was old age.
A) I              B)II             C)III               D)IV               E)V
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